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1. The constituent Assembly was set Up under

A. under the Indian Independence pct 1947

B. under the resolution of the Provisional Government
C. under the Cabinet Mission plan 1946

D. By the Indian National Congregg

2. Who was popularly known as father of communal representation in [
A. Morley

B, Cljgelms Ford <
C. Minto
D. Reading | O\O

3. The declaration on International Human Rights wa
A. December 10-1946

B. December 10-1947 o

C. December 10-1948

D. December 10-1949 e‘?

f . In which case did the supreme gp that the person who was arrested, should
be produced in front of cour %{24 hours?

A. Jogindar Kumar of Uttar Pradesh (1994)
B. AK. Gopalan V te of Madras (1950)

tate of Uttar Pradesh (1962)

during the year

D. Jawaharlal Nehru

hich of the following features was borrowed by the framers of the
- LS constitution?

A. Fundamental rights

B. Removal of Judges of the sSupreme Court
€. Judicial Review

o Fl All the above

Constitution from
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7. The constitution of India describes India as
A. A Federation of States and Union Territories
B. Quasi - federal
C. A Union of States
D. Partly unitary and partly federal

: |
8. Which article deals with rights of citizenship of c-r;i.'-tain Migrants from Pakistan? o
A. Article 6 4

B. Article 7 l o
- C. Article 8 o
D. Article 9

o‘
9. The Directive principles of State policy are contained in P 0

A. Part I1I of the constitution

. Part IV of the constitution

B
C. Schedule VII of the constitution 0
D. All the above

A. First schedule

B. Second schedule 0 i
C. Third schedule ’\

D. Fourth schedule

10. Which schedule deals with territories of 28 3 d 7 Union territories?

11. Special provisions for th

ea r@a’at‘mn of scheduled areas are given in which

schedule *
A. Fifth sched _ !

B. Sixth sch uw

C. Fourth s le
D. Thirdschiedule

L

ation of National eme
_A. One month
Two months

rgency ceases to operate unlassappmvadbgth S
) Lt };.';.' fonaT 'I.
.”u'll |‘1_"'
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- “rangal district of Telangana is well-known for which of the

'y

-*' -

\

: * Akbar build Buland Darwaja?
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45. In which of the following state Chapchar Kut is celebrated
A. Mizoram
B. Meghalaya
C. MNagaland
D. Manmpur

46. Which part of India receives rainfall from both the South-West and North-West

IMONsoons?
A. Tamilnadu o
B. Odisha o
C. Lakshadweep Islands
D. Andaman and Nicobar Islands 00
47. Flamingo Festival is organised in which State? 0\0

Telangana &
Karnataka 0
Nagaland

Andhra Pradesh

48, Traditional buffale race “Kambala” is && which state?

A, Andhra Pradesh

oow®

B. Tamil Nadu
C. Karnataka \
D. Kerala

materials is required in the largest quantity in the

49, Which of the follo
manufacture of
L oy

A. Sirpur
B. Bellampalle
. Mﬁﬂﬂlﬂ’?ﬂ
. I s b'-'\:-.i‘"i‘\-\. ad}r
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: Of the following homonyms. l

fant ~ To Harass Someone AR

.I":
Al

Sﬁﬂﬂhﬁﬁ’ E'f the underlined word in thE‘. Eﬂnt&w 1 the alternatives

insipid young man. o@ !

-
A

|

%swﬂrd whchcannut be fDI"]IIE:ﬂ using the
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26, Choose the incorrectly spelt word from the options given helaw:

A, Decasion
Commission
Accommodate

o aw

. Decuarred
S7. The following sentence is divided and marked as A, B, C and D. One part may

contain an error and may not be acceptable in standard written communicationt
Identify the part containing an error A

Harsha, (A} / along with his brother Ashok (B) / and six senior Bank Offiflals) (C) /
were arrested (D]

98. The following sentence is divided and marked as A, B, C and Dg/Otie part may

contain an error and may not be acceptable in standard writféh communication.
Identify the part containing an error. :

Planting trees (A) / helps (B) / to prevents (C) / soil efosien {D]

59. Choose the meaning of the phrasal verb given Welow:
Bear through
A. to endure
B. to support
C. to experience
D. to sustain
60. Choose the meaning of the uniderlined idiom in the following sentence from the
options. ;
Please do not ge!%n my nerves, [ am already in a crisis.
A. to disappdint
B. To amnofigomeone a lot
C. to di€turb

D, o leave me glone

\

6l. %&f‘%he meamng of the underlined idiom in the following sentence from the
tions.
_r-?,rQlRajiv is quite

. matter.
A. At ease
B. Displeased
C. Perplexed
D. Danger

at sea and does not know what course of action is to be taken in that

12
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Indi : : ions gi
&2, Choose the corrett Ndirect Speach of the following sentence from the options given

helow:
“Why are you late? asked the Manager,

A. The Manager asked me why | was late.

B. Iasked the Manager why he was late.

C. The Manager told me to be late.

D. The Manager asked me why am [ late.

63, Choose the correct Direct Speech of the following sentence from the options @

pelow:
The station master says that the train will be late. o
A. The station master said, “The train is late”. 0

B. The station master says, “The train would be late”. a ¢
C. The station master says, “The train will be late”. ‘*'
D. The station master said, *The train will be late 2 D

64. Choose an appropriate Active Voice for the fnﬂnwmgég%
A kite is being made by the hoy. ¥4

bb'_
A. The makes a kite. o
B. The boy is making a kite.
C. The boy is flying a kite. )
D. The boy has been making a

63. Cheose an appropriate Faamvé ﬁ%{é& or the following sentence.
Why did vour brother writd %ﬁﬁ&tterﬁ
A. Why did such a%@ms written by your brother?
Lt

B. Why such en by your brother?
C. Why was etter had written by vour brother?
D. Why Wﬂ@i a letter written by vour brother?

Read the [n]la'r% assage and answer the questions from 66 to 70 given below the

the = three old men set out on a Journey together: One of them was bald,
nd was a philosopher and the third was barber. At nightfall they decided that
i of them should keep a vigil turn. The barber was to keep watch first of all, the
philbsopher after that and the bald man last of all. So, the philosopher and the bald
man went to sleep and the barber was on watch. For some time he kept awalke but in the
end, he felt tired of it and he thought of some diversion as otherwise it was difficult fm;
him to pass time. Then he took out the razor from his box and shaved the head of the
philosopher. At the fixed time he woke up the philosopher an:i went to sleep. When t.bq
Phﬂnﬁnpher got up and felt his head all over, he was startled and said in surprise, 1t was

my turn but this wretched fellow has awakened the bald man.’
13
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man sold two watches for Rs 1000 e he: gains 1:1%311;1 on another
_:Im mﬂmn l:ﬂ?ect of the whule ion is

B. 1.44% loss "

C 1%gain v

-
=y
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T8 2" = 64 then the value of n is

A. 2
B, 4
Yy il
D. 12

7O, If x=3+2v2 then the value of V¥ - :EI is

|
o |

B
C. i o
i ¢

80. 5 out of 2250 parts of earth is Sulphur. The percentage of su]p@l‘em‘th 18

A S ‘o

\g

3

B. = &
1

>
2

D5

S1. If A's income is 50% more than B's intbq how much percent is B's income

less than A's income?
A. 50% PN 0
B. 33% \
1
C. 33%% v
D. 33:% I e

ir%nae edges are 6 cm, 8 cm and 10 cm respectively are melted
e cube. The edge of the new cube formed is

82, Three cubes of
and formed i
C

Number of words with or without meaning those can be formed by using all the
letters of the word DELHI, using each letter exactly once.

A. 10 g
B. 25 L
C. 60

D. 120 , : A

16
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| 4. Mis 2L i

84. Missing term in the Scquence 1 2 5
= B o'
e
ot
, 10
B. 5
& 7
i 177
D. &

85. In a certain code DECEMBER is written ERMBCEDE. Which word will be writte
ERMBVENO in that codes? i 2

| A, AUGUST - : o :
: B. SEPTEMBER : :

y C. OCTOBER o
N D. NOVEMBER o‘

86. If ‘eye’ is called ‘hand’, hand’ is called ‘mouth’, ‘mouth’ is a:’earmca:ﬂcd
‘nose’ and nose’ is called ‘tongue’, with which of the foll@i d a person hear?

A. eye
B. mouth 0

C. nose

o bo(t

% ffxmﬁae ;Etmthﬂlj-:pf'thﬁ son of Y’s so s Xrelated to Y?
. B A Eon e
B Brother

o A o
.

B - Cousin:
- 8K — ST e R e
BEE 1) Grondsores
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In the following questions, answers are to be based on the diagram gIVED below;
i - ts
triangle represents doctors, the cirele represents players and the rectangle Fepreseis
artists,

whei =

: O

88, Which numbered space in the i:liagmm represents doctors who are 3150"”3 and

artiats?l‘ o‘
00

89. Which numbers represents artists who are also ;@x only?
A4

e O
D. B

490. Which number represents 6:1@ are neither players nor doctors?
A1

2
c. 3 *
D. 4

Uowsx
0y B Ly pa

al. W.E-'hjf:i-;L m;mber I ts doctors who are neither players nor artists?
B. 3 4

C.

92, h numbers repre ' 1

b presents players who are neither artists nor doctors?
B. 34
C. 6,7

B8

18
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93. KMMREW the denominations of one-ripee notes, five-rupee notes and
m'm%mmu% 7~ Pumber of notes of each denomination is equal. What is the
total number of NOtES that he hago [ :

07

u- 3C | 27D | 9E ! o
71| 21K | 3M | o
4D | ? Gl
- B. 28G

C. 351 o

D. 48F o

95. wmng term in thE'ﬂ.'Emeer series 196,169,144,
' A 101 |

B. 121 0
C. 169 '
D. 196

0&10

96 Operations of a computer
. : A Internet Browser %

B. Application So
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99, Graphics that make programs and tasks easily accessible to the us
called
A. Graphics System
B. Graphical User Interface
C, User Graphics System
D. Natural Graphic System

100. The icon with a minus sign [-] in Windows is used to

A, Close the window
B. Reopen the window

C. Move the window to the required place
D, Minimize the window

101. The hardware unit required to connect a home computer to

A. Modem
B. Wi-Fi

C. Switch
D. Repeater

O
P

0‘08
o
-

met surfing is

102. Sending data to the network service p

A, Modulation
B. Demodulation
C. Uplink

D. Downlink

103. Standard protocol used

A. ARPANET
B. FTP 0

€. TCP/IP

D. TELN
2

products, the Ctrl+X is used for
Copy selected content into memory
Delete selected content

C. Copy selected content to memory and delete it
D. Undo the recent operation

104, In MS

20
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er in Windows iy

00

&
01?:1&1: is
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M Office is used for audio visual preaenta-ticiﬂé?

106, The term computer is derjve from ’
ﬁrﬂ‘Lhtin
. E French !
. C.German o
- . ﬁ Greek | o
]
‘ 107, The ﬂr&t camput:-rs were programmed using L 4
": A, Assembly language o
. B.Clanguage | o
~ C. Machine Language \
ﬁ D. Object Code &

purpns& programs in early

of the following is @ connect computers with in a small area?
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111. Database is
A. A collection of information that can only be retrieved :
B. An organized collection of data that can be manipulated oF remﬂ“'ﬁ'fl
€. A epllection of only numeric data that can be manipulated and retrieved
[3. A backup storage where data can be saved

112. Which of the following is NOT a database management system?

A. MS Excel

B. M5 Access

C. MySQL

D. IBM DE2 o
113. An RDBMS consists of :

A. Collection of Records 00
B. Collection of Keys o

C. Collection of Fields "

D. Collection of Tables &

114, The meaning of data integrity compromise is
A. Data was changed without the knowledoeed”
B. Data was copied without the kn
C. The owner was denied access t
D. The data was denied from b

L/

115. Exploiting human elemen access to unauthoerized resources is called
A, Hacking

B. Reverse Engine e
C. Social E:@@

D. Trojan att@

116. NMAP is e

anti virus program for networks
. An adware detection and Prevention program

ata
d restore facility

. Which of the following is NOT antivirus software?
A, McAfee

B. Kaspersky

C. Avast

D. Rootkit
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